B xyz2bHBEAS
Nt CREFWER—  ZERB L R
ATy wRFBKIZEHNE (=)
FE8 GEyE AR

AEFH:
ILASAL T RH B 1005

BA I UES NES T PRV
3 RULEHPAELEELEEMAES - B R

IR 339 -

Rzl t=0s B > 72(x, y)y= (0, 100)m =58 » DL 10 m/s BUSESE » BR/KTE ] x-axis B%
30°(07 » BHE—ER - BREEHIET - BER y=0m

(QRERFAT R < SR BB vx(t) ~ vy(D) .

O RERFRITHIEZ B RE x(t) ~ y)  [2043]

EHEE X 20.0m - EEEE 3 #/min » SKBKERS
(Q)FAHEEEF T rad/s
O GIEEE RN - [204]

AT RE - B IEZ RS Y(x, t) = A cos(kx—wt)

(2) KR A

®) FEEv  [205]

={EFEA 3.0 uF ~ 6.0 uF ~ 2.0 uF BB HFHESR  [104]

(@) K—1E 25 mH BYEERTEEZERE 60 Hz (w = 377 rad/s) K2 fHHT Zo
(b) Eo—=o B 7Zp=7

€ BEo— 08 -Z.=? [104}]

RARFEEI SRR 89.1 MHz Z B - REZEFILBHIEZFREL=? [104}])

HEFR » MDLEERNTERDEE TR AR ESE L - OE m (A28
R R —BERR 0 B—2EERd - RKd=7 [104]





